APCSA

Quiz 2

As a warm up to Examination Two, answer the following.

1. Name the 7 primitive data types.

2. What are the implications of the differences between these two lines?
  System.out.println("After moving, the top-left corner is:");

  System.out.println(After moving, the top-left corner is:);
3. How would you use the API to understand this bit of code?
Rectangle box = new Rectangle(5, 10, 20, 30);
box.translate(15, 25);

4. Given the precondition that A+B < 0, when would the postcondition A2 > 0 be met?
5. In the code below for Making a Scene which ObjectDraw part was the new shape for the code?
import objectdraw.Line;

import objectdraw.WindowController;
import objectdraw.FilledRect;
import objectdraw.FilledOval;
import objectdraw.Text;
import objectdraw.Location;
import java.awt.Color;
import objectdraw.FramedOval;

6. How did they find the 44th Known Mersenne Prime?
7. Consider the following code segment.
for (int k = 7; k < 28; k = k + 3)

{

if (k % 5 == 1)

System.out.print(k + " ");

}
What is printed as a result of executing the code segment?
8. What is the Turing Test Bet? When?

	
	MidTerm
1st Quarter

	Overarching Process
	3

	7 Systemic Parts of APCSA
	1

	Your Ability to Test
	2

	Science Fair
	4

	Journal
	2


9. Determine the grade made on this person’s e-Portfolio


10. How do you integrate a JPEG into ObjectDraw?

11. Where is a program stored when it is not currently running?
12. Name two subsets of the class objectdraw.Rect.
13.  What is the output from this code?
…{
     public static void main(String[] argv)
     {
      String s1 = " *   *   *   *   *   * ";
      String s2 = "   *   *   *   *   *   ";
      String s3 = "__________________________________\\n";
      String s4 = "_______________________________________\\n"; 
      System.out.print(s4 + s1 + s2 + s2 + s3);       
      System.out.print(s1 + s3 + s2 + s2);       
      System.out.print(s1 + s3 + s2 + s3);       
      System.out.print(s1 + s3 + s2 + s3);       
      System.out.print(s4 + s4 + s4 + s4 + s4);
   }…
14. What is the result of this?
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